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WEST BENGAL STATE UNIVERSITY

B.Sc. Honours/Programme 3rd Semester Examination, 2022-23

CEMHGEC03T/CEMGCORO03T-CHEMISTRY (GE3/DSC3)

Time Allotted: 2 Hours Full Marks: 40
The figures in the margin indicate marks of question. NS FF RIZ RN 057 7 7074 T
Candidates should answer in their own words STRITCR [ ST IR TSI TN T
and adhere to the word limit as practicable. Fe7 fco X!

All symbols are of usual significance.

SECTION-A

Answer any three questions taking one from cach unit

STSTS 2B AT 1B 0 & T (i oD e Ted e

UNIT-I
1. (a) Show that work done in reversible isothermal expansion of ideal gas is always )
higher than that of irreversible process.

NS @ I ST IS STEaed Ui 9 ORI 21 T AR 72pAiace
PO T WA WeH @R =1

(b) Find out the intensive and extensive property from the following: 2
Refractive index, Internal energy, Viscosity, Temperature.

FaEResh i Uid Aoe ¢ giRaeTs ol bt sl
- efforirs, Sereal X, Jiere!, Sl

(c) One mole of a monoatomic ideal gas at 27°C and 10 atmosphere pressure expands 3
reversibly and adiabatically till the final pressure is 1 atmosphere. Calculate the

P =1.66

lf
27°C ol 6 10 INGAT BIest &3 &l Y AR 9F e e SHi ke
8 FFOINY ST TSI FPifie 391 2 (3 3 ST b1 «F AT 1 @R

final temperature and work done for the change. ¥ =

AT CFeg ST Sxeel @ FEIR A IR = Cr-21'66
,/
\/(a) Deduce an expression for the efficiency of a reversible Carnot engine. Show that 4+2

the efficiency of a reversible isothermal cycle is zero.
IS DICi-2&C o Fel SR T ol G ST SIS 50
FifeFol T ¥ 2
(b) Calculate the efficiency of a Carnot engine workmg between 300°C and 30°C. 2
300°C 9<% 30°C SWeR W) 96 FI0 & Tl RER F@E!|
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UNIT-II

3. (a) Derive an expression for Kp in terms of degree of dissociation (&) and total
pressure (P) for the following reaction.
‘ COCL (g) = CO(g) + Ch(g)
COCl, (g) = CO(g) + Ch(g) RfEba AE® (Kp)-a9 e Reawem @l (@) 9
GG Biot (P)-G3 oo Fofe Sl

(b) What is the effect of (i) increase in temperature and (ii) increase in pressure on the
equilibrium of the following reaction? :

ke Rt cr e () Swet i Ok (i) B Jfaa &SR SeETol
. : .
280, + 0, 22805 ; AH=-188 K]

\,4./ (a) Find out the relation between K, and K. of the following reaction
e R v K, @R K, 7 57°) alfest s
2 NHs(g) = Na(g) + 3Hz(g)
(b) Why chemical equilibrium is dynamic in nature?
AT A AT A I W @A 2
(c) What is the effect of pressure on equilibrium at constant temperature?
i e wrsrigi R ATRET Sl 2o SEbal S|

UNIT-1I

5. (a) Find out the relation between solubility and solubility product of a sparingly
soluble salt ‘AB’ type.

‘AB’ TSR THYIR SR TGSl @ WRJS! QFCER 13 (67 el
(b) ‘Aqueous solution of potassium formate is alkaline’ — Explain.

“S{BIRTIN FEHET Sl G4 A — G0 I

(c) Two aqueous solutions of ammonium acetate are given, one having concentration
0.1 (M) and the other 0.01 (M). Compare the degree of hydrolysis of the salt in the

two solutions. :

picifas Spfend 7 W wRd edl SRl 9 Wl 0.1 (M) ¢ weEl

0.01 (M) T @2 7fb Tl sTaelfbq Sdfeaaeets san et I

6. (a) At 25°C, 1.34% of acetic acid dissociated from 0.1 (M) solutions. Find out the
dissociation constant of acetic acid.

250C T 0.1 (M) ifs soifited @3 @3 1.34% omfre = eifefe
SRR &3S S S|

(b) 50 ml of a 0.1 N acetic acid is titrated with 0.1 N NaOH solution. Calculate the pH
of the solution at the start and at the half neutralisation point.

[Given pK, =4.75]
50 ml 0.1 N SiGi5s Snifrers 0.1 N NaOH @l eifie 4 =91 (i) 2iaee 6 (i) =
PISFICE T pH-aF WA iy s (W€ pK, = 4.75)
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SECTION-B
Answer any four questions taking one from each unit
TS LS it 5fF T3 e i s o1/ e S G
UNIT-I

' (a) Write down the reaction mechanism of nitration of benzene.
AR H2Ch Rfera ferm cRvest erat

(b) How would you prepare Benzophenone from Benzene?
RfET QT QUETEER 2we FaE Frei ?

8. Write down the product(s) of the following reactions:
e Rfrmafs Bewm simd (of) e
CH,
. Bl'z
® Fe powder
CH;
Py CTOZCIZ
(@) +CHCl, |
CH;CH,CH,.Cl
) @ e
‘anhydrous (WI7)
AlCl;
UNIT-II
5 How can you carry out the following transformations?

oI FoIeI DI 9

Br COOH
o G &Y
: g :
0 QT —
10. Predict the products in the following reactions.

%ﬁmﬁm%eﬂﬁmm@%%ﬁ@mﬁml

cl
NO,
(a) ©/ NaZ)H
NO,

i. BrCHzCOOCZHL
(b) CgHsCHO o "
i, H®
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UNIT-II

11. (a) How would you prepare 1°, 2° and 3° alcohols from Grignard rcagent?
AT R TR 19, 2° GR 3° IR ol tofd e ¢

(b) Write down the product(s) of the following reactions:

Nosz Rirmefcs Beom smd(sl) @
NH,
" NaNO,/ HCl Dil H,SO
@ 2 > 250,
) 0-5°C & Heat B
Cl

.
w

(i) NaOH solution N A Dil HClI
350 °C, 300 atm

\LZ’. (a) How can you carry out the following conversions?

FefRe weimel e wate F@ ¢
() CeHsCHO —— CgHsCH (OH) CHs

(ii) @— CH(CH;); ——» @—

(b) Identify (A) and show the mechanism for its formation.

‘A’ @ fofere Tral uRk ufta Sesiveag Ridran e et
CH; CH,

| I Conc. H>SO
CH;— C—— C— CH; ——2" 5 (A)

| I
OH OH

UNIT-1V

13. (a) Trimethyl acetaldehyde participates in Cannizzaro reaction but acetaldehyde does
not. Explain.

Siafaize pFtEtRRe wiferE Riram szt sw e spbtnaeais
=i RO e
(b) How can you carry out the following conversion?

ffeRe weireal i e ¢
CsHsCOCI’h e CGHsc = CHz

I
CH;

(c) Identify which of the following compounds respond to haloform reactions:

s RidF el (7 @ (qeiefe SIE Il
CH;COOH, CH3CONHa, CH3;COCH,COCH3;, C¢HsCOCH;3

14. (a) Show, with mechanism, what happens when acetaldehyde is heated with sodium
hydroxide solution.

SIRARTeE G FAEHTE §9oPR Tod T (b ATz =Tl
(b) How can you achieve the following transformations?

fEfRe weiegsk wabe $aE FoE ?
(i) C4HsCOCH; — C H;CH,CH,;
(i) C,H;COCl — C4H;CHO

X
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WEST BENGAL STATE UNIVERSITY

B.Sc. Honours/Programme 3rd Semester Examination, 2021-22

CEMHGECO03T/CEMGCORO03T-CHEMISTRY (GE3/DSC3)

Time Allotted: 2 Hours Full Marks: 40
The figures in the margin indicate marks of question. &Nfee T 0Z TG QT ST e T
Candidates should answer in their own words AT e IR I TS TN N
and adhere to the word limit as practicable. Geq e 2691

All symbols are of usual significance.

SECTION-A

Answer any three questions taking one from each unit

&Ters 3510 (AF W6 T o o it foaft etie Tea e

UNIT-I
1. (a) Inthermodynamics what do you mean by open system, closed system and isolated 3
system?
Sivl AfSRm & HEss, Ia PIeow @ [ Fiess Iece & @il 2
(b) Calculate maximum work in (i) ergs and in (ii) litre-atmosphere when 2 mole of an 3

ideal gas expands isothermally at 27°C from 2 litres to 10 litres.
2 (T ICAT S aPics 27°C SO ISl 2 TR wied e 10 1o
et @IS A 2 FfHE FoRIE s (i) @l (i) FoR-sncmfee «v
ey
(c) Classify the following into intensive and extensive properties: 2
Mole fraction, Internal energy, Viscosity, Temperature.

e gielie R az KR o e @ s
e Sk, Sreres =i, Herel, Siwigl|

2. (a) Deduce T-V relationship of an ideal gas under reversible adiabatic condition. 3
St AT AT FTaoIN 2RISR (g T-V Tl afedt we

(b) What are the thermodynamic criteria for (i) equilibrium (ii) spontaneity of a 2
process?

(i) ITRER =R (ii) FOTe 2 oo (3f#Fy & & 9

(c) Establish Kirchhoff’s equation related to heat of reaction and temperature. 2
et witorm T Twol efe TFe Tl AR elfen! Tl

(d) What is heat of neutralization? 1
2P oI 5 9

3206 1 Turn Over
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UNIT-1I

3. (a) For the reaction PCls(g) = PCli(g) + Ch(g) find out the relation among K, & and

3206

(b)

P in the equilibrium condition.
@2 R cwa IRER K, o' P-93 S 31 feiefiaet S
PCls(g) = PCly(g) + Cl(g)

What is Le Chatelier principle?
& *ficefomiaa Nife & ¢

(c) What is the effect of addition of inert gas on equilibrium in a gaseous reaction at

(a)

(b)

(a)

(b)

(a)

(b)

constant volume?

3 Srreta e s R ffEr st c@e 99 T AR [ 2ok S ¢

Show the relation between K,,’s of the following chemical equilibria:
Tiovs R spefem K,-a3 s 7= @wdls)
Na(g) + 3Ha(g) = 2NH;s(g)
1 Na(g) + 3 Hy(g) = NHs(g)
Discuss the effect of temperature and pressure on the equilibrium of the following

reaction.

it cre AWieRT THee! Wk Bt 2SI REsA FE!
Na(g) + 3Ha(g) = 2NHs(g) + 22.08 Kcal.

UNIT-III

What do you mean by ionic product of water and how it is different from
ionization constant of water.

T AN ROFE IO Bl QI 9 TETH TN BT G S A W ATOR
&9

In a buffer solution concentration of NHs is 0.01 mole/litre and concentration of
NH4Cl is 0.02 mole/litre. Find out the pH ? [Given Ky(NH3) = 1.8x107]

a3 AT TaeE 2fs #oi 0.01 GIIet NH; @ 0.02 (et NH,Cl 39541 =elf5a pH
T 9 [0S BT Ky(NHs) = 1.8x107]

Deduce an expression for pH of the hydrolysis of an aqueous solution of a salt of
strong acid and weak base.

@36 O o1F 8 @ Y HIE T T G MR pH-a3 F529l aifont
AN

What is a buffer solution? Discuss the buffer action of a mixture of weak acid and
its salt.

AT B3 5 9 9T 7T ST € OiF FiRel-aF Fter Qe iR 9 S
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SECTION-B

Answer any four questions taking one from each unit

&ters 3510 (AF W6 w5 o e it 5175 @vsie Tea wie

UNIT-I

7. (a) How will you carry out the following reaction?

fsfaie [Rfen i =ive F93 ¢
[‘\102 N02
NO,
(b) Why polyalkylation happens in alkylation reaction of benzene by Friedel Crafts
reaction?

res Tt SpiEFizEme RiEHce sAenesizEme 96 @ 9

8. (a) Complete the following Reaction.
s Rigei s et

© H2S04, SO;
200°C
(b) How the following conversion could be carried out?

feleiie Felieq Frei@ 70" T4 @@ 2@ 9

(1) Benzene to Acetophenone.

UNIT-1I

9. How will you prepare the following compounds using methyl magnesium iodide
(CHsMgl):

RS RN NECRT 987 @ Froi Feike @aefs ave F37 9
(i) CH;COOH (ii) CH;CHOHCH;

10. How would you prepare?
fFeI tofd 9 ¢

NH, Cl
0O — O
ONa OH
COOH
(ii) .

3206 3
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UNIT-III

11. (a) How would you distinguish chemically between 1°, 2° and 3° alcohols? 3
AAEE T FOIE 1°, 2° € 3° SRTFEE T e ol 7263 2
(b) Write down the product(s) of the following reactions: 2+2
Tiwa Rfenelits Sesm smidf (wf) @

i) LiAIH,/Ether
() CH,COOH ————»
i) H;0"

0]
H Na/C,H;OH
@) cH;—c—cCH, 270" g5

12. (a) Write notes on any #wo of the following: 2+2
faess Raefer @-iet 767 Teia Bisl (et
(i) Claisen rearrangement
@Ere =msien [
(i1) Pinacol-pinacolone rearrangement

PiFe- i [

(ii1)) Williamson’s ether synthesis.
TRfTAET 2R KR |
(b) Identify the product [A], [B] and [C] in the following reactions: 3
o Rferatefene [A], [B] =k [C] e )
CHO

NaHSO NaCN Dil HC1
S [Al—— [B] ——» [C]

UNIT-1V

13. (a) How would you convert? 3

Benzaldehyde — Cinnamic Acid.

eI tofd Facae
RGEeRRe — P it

(b) Complete the following reaction. 2
fesfeiiie el o i

40% NaOH
2C4H;CHO 0% NaOH

3206 4
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14. (a) Ethyl alcohol and isopropyl alcohols both give positive iodoform test, comment on
the statement.

3236 SETCPIZET G2 NBENICANNZET SeTrize] Tor3 3o MICTIF A= (|
RRUISERCHER IRl

3206

(b) Write note on: Benzoin condensation.
51l 1t Benzoin condensation.

N.B.

: Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to

their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission
(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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Time Allotted: 2 Hours

WEST BENGAL STATE UNIVERSITY
B.Sc. Honours/Programme 3rd Semester Examination, 2020, held in 2021

CEMHGECO03T/CEMGCORO03T-CHEMISTRY (GE3/DSC3)

Full Marks: 40

The figures in the margin indicate marks of question. &Nfee T 0Z TG QT ST e T
Candidates should answer in their own words AT e IR I TS TN N
and adhere to the word limit as practicable. Gy face 291

1.

2.

3.

3206

All symbols are of usual significance.

SECTION-A

Answer three questions taking one from each unit

ATSTF LT (ATF 476 03 e T (G foaTs e Tea wie
UNIT-I
(a) Distinguish between reversible and irreversible thermodynamics process.
SRR ~ae @) SRS @i A o sl

(b) What do you meant by extensive properties and intensive properties in
thermodynamics? Give example for each.

it afsfm #fimiae gk SRS 5 0 F QI ¢ ATSFD SriRge Tie |

(¢) One mole of an ideal gas (C, = %R) is expanded adiabatically until the
temperature drops from 20°C to 10°C. Calculate AH for this process.
GF (e Sl S (C_V:%R) 7 ST FFOINT R @3 T 20°C RF
10°C (9 (1 GGl | T afod &y AH el el

(a) Calculate the efficiency of a Carnot engine working between 300°C and 30°C.
300°C @R 30°C TxeoR e aF 0 b 2feca Fxwwel RER &l

(b) What is entropy? Write down the statement of second law of thermodynamics.

GG~ 5 ¢ w1 sfefme @S @i [ige s

(¢) Deduce the relation 707~ = K (Constant) for an adiabatic change of one mole of
an ideal gas.
1 et St s sl TR ARG (g 777! = K (83F) T2 Towiwe
M

UNIT-II
(a) Starting from the general expression of K, arrive at the expression of K, for an
equilibrium established in the gas phase.

Aierelcd et i g6 [iemm AR K, FREe D (@ TS w6 K, -9
At efest T

2+1

1+2
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(b) According to the Le Chatelier Principle what will be the effect of temperature off
equilibrium for the following reaction.

2S0; (g) + Oz (g) = 2S0; (g) + 42 kcal

2S0; (g) + Oz (g) = 2S0; (g) + 42 kcal
(c) Under what condition K,, = K. for a gaseous reaction.
@ A Rferm o @9 I8 K, = K, 21

4. (a) The value of K, at 20°C for the following reaction:
2NO (g) + Cl, = 2 NOCI (g) is 1.9x10° atm
Calculate the value of K. at the same temperature.

e R cFta 20°C SPMER K, 21 1.9x10° atm ™' | @32 OloM@R K,
M

2NO (g) + Cl, = 2 NOCl (g)
(b) What is the effect of pressure on equilibrium at constant temperature?
I e Sieigy e e siek o S Sl

UNIT-III

5. (a) Explain buffer action with an example.
IR G0 AT @ fRCFIat SIeetibel el |

(b) Find out the relation between solubility and solubility product of a sparingly
soluble salt ‘AB’ type.

‘AB’ GO FEYI) RS TIUO] € o] Bee G T (o6l S|

6. (a) Aqueous solution of Ferric Chloride is acidic — Explain with equation.

FRE (FIAIET @F TR T16 FHF — AN AR [ I |

(b) At 25°C, 1.34% molecules of acetic acid dissociated from 0.1(M) solutions. Find
out the dissociation constant of acetic acid.

25°C el 0.1(M) =niPilte =nifies 3 7@d 1.34% Sifee =1 it
DRI P Al Al

SECTION-B

Answer any four questions taking one from each unit

ATSTF 3BT (ATF G0 63 24 [ wib 51715 veia Tea wie
UNIT-1

7. (a) Write down the reaction mechanism of nitration of benzene.

@i AizcE= i i @ e @l

3206 2
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: i \\i
(b) How would you convert benzene to isopropyl benzene? -"-"r’ 3 2%\
@i Foi@ RE#Es @fec Fisiie F3E 9 il = LIBRARY =]

8. (a) Why high experimental temperature and fuming HNO; is essential for the second == =27
nitration of benzene?

@G @S TIBCEICas 7o @ Wil @R o HNO; 320 41 2 (4 9
(b) How would you prepare benzophenone from benzene? 2

@fed AT [FOIR @EEEN (O 9 2

UNIT-1I

9. Arrange the following compounds according to their reactivity in aromatic 2+2
nucleophilic substitution reactions and explain.

s Wemefeles afegrm [ienwm oF@ Aerorm @ wpim FEkiRe
TENSCECE AENE R FHel PN FCAl |

Cl Cl
Cl NO, Cl1 ON NO,
NO, NO, NO,

10. Using phenyl magnesium bromide how would you prepare the following 2+2
compounds?

fFaizs eEhrEN @z 3927 FE o FEEike @l awe F9@ 9
(i) CsHsCOCH; (i) CsHsCOOH

UNIT-I1I

11. (a) Write notes on any #we of the following: 2% x2=25
faess Raefer @-iet 767 Tofg Bisl (et
(i) Claisen rearrangement
@EreE ssfen f[f
(i) Pinacol-Pinacolone rearrangement
fomIet-fIcIeT sjslon i
(ii) Reimer-Tiemann reaction.
fastiz-fowtie e
(b) Phenol is soluble in NaOH solution but not in a solution of NaHCO3; — Explain. 2
&1 NaOH @t @17 5@ NaHCO3 & W<y 2 — 171 Al

3206 3 Turn Over
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ol
12. (a) Write down the product(s) of the following reactions: -"-"r' : -
[ =
foma R wfee Seom smidf (wfe) @ II.I'. : LIBRAR)
1) LiAIH,/Ether K“x

i) H;0
0

H Na/C,H;OH
@) cH—c—ch, WOHOH

(b) How would you distinguish chemically 1°, 2° and 3° alcohols?
AT T FOIE 1°, 2° @R 3° IR W& ey ol F41 2

UNIT-1V
13. (a) Trimethyl acetaldehyde responds to Cannizzaro reaction but not acetaldehyde
— Explain.
BiEfRizE enttieftae e /i ae or e Rtefaze @ @
— A

(b) Carry out the following conversion with the name of the reaction:

R arer e vfiasd wate s

3

\ / CH,CH;

O

14. (a) 2-Butanol responds to haloform test but diethyl ketone does not — Explain.
2-RThlwe gicees KRG sreiaze 303 58 ©iE 2212 [0 T A — 10 F@i|

(b) Carry out the following conversion:

Acetaldehyde — > Acetal

fafRe “ftaes wafbe s

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission

(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer script.

3206 4
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WEST BENGAL STATE UNIVERSITY

B.Sc. Honours/Programme 3rd Semester Examination, 2019

CEMHGEC03T/CEMGCOR03T-CHEMISTRY (GE3/DSC3)

Time Allotted: 2 Hours Full Marks: 40

anfss A TE eyl &oaa J AT P

The figures in the margin indicate marks of question.
Candidates should answer in their own words sy dedireg Acea SR 79 797 A T

and adhere to the word limit as practicable. Baq Ao 291

All symbols are of usual significance.

SECTION-A
Answer three questions taking one from each unit
elTerE FEE (e «le e e e el fomo elode Sea e
UNIT-I

)/ /a’) What are meant by closed system and isolated system?
o o <% fJftes o7 Fe10e 6 (@I ¢

(b) Calculate the maximum work-done in ergs when 2.0 moles of an ideal gas
expand isothermally at 27°C from 1 litre to 5 litre.

2.0 (T QI S ST oIy @l 27°C Tl 1 ol S (0 5
_\»ﬁmwwwﬁswmw@mﬁﬁwmam sl |

,,,yeduce thermodynamically the relationship C, —C, =R for one mole of an 3

ideal gas.

OISR AR 1.0 e e o (Feg RS A C, ~C, =R |

3%

2. (a) Establish Kirchhoff’s equation related to heat of reaction and temperature.

T O GoiF Tl 2o RS PRMTER e @lfes! wel

(b) What is zeroth law of thermodynamics?

eisifeRwa e 5@ & 2

(c) 20 litre of Helium gas at STP is heated upto 80°C in a gas cylinder.
Considering its ideal behaviour calculate AE and AH of the change

(cv=%1e).
STP (w20 o s «af 7 Fiersita 80°C S Tee w4 2ot aftx
s w5ae G C, =3 R 40 A AL 6 AH Fefraea

(§9]

i

(d) Write the first law of thermodynamics. 1
eIl elds @i @l

3206 | Turn Over
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UNIT-1I

(m) Correlate the equilibrium constants K, and K, for the reaction

forsfriRe R ewer K, @R K, -7 04 5o elfn) weai

2NO2 (g) = N204 ()
(b) Under what condition K, = K, for a gaseous reaction?

G syt RfeFa i 108 K, = K, @7

'(c) /Discuss the effects of temperature and pressure on the equilibrium for the
following reaction.

e RFnDe e iR T uR 5itoR &SR SIEsH ST
Na (g) + 3H; (g) = 2NHj (g) + 22.08 kcal

(@) For the reaction PCls (g) & PCl3 (g) + Clz (g) find out a relation among
K,, a and P in the equilibrium condition.
PCls (g) = PCls (g) + Cl; (g) @2 RiEifox cweg Amiezm K, o @R P-4
g I fefiael e

(b) Explain what will be the effect of addition of an inert gas on the equilibrium of
a reaction at constant pressure and at constant volume respectively.

fAfwe vt gz e SiTetm gafo R[RitraR AR e iR s @ $91 eor
ST T
(c) Discuss on the unit of equilibrium constant of a reaction.

930 RGN AT GFF F7=ATE WG FCER |

UNIT-III

(a) Define buffer solution with an example. Which of the following mixtures in
aqueous solution would act as a buffer solution? Give reasons.

TwIzgeE TN GIEIT W WS | Tl FI Avd WK (I AT g3l A
I I 2 IR (=0
(i) CH3;COOH +NaOH (1:1 mole ratio)
(ii) CH3COOH + NaOH (2:1 mole ratio)
(b) Determine the pH of 0.1 (N) NaOH solution in water.
0.1 (N) NaOH-99 & &<t pH e e

(a) Write short note on common-ion effect.
BIt @TC1s 31 SR 2fold|
(b) Ionisation constant and ionic product of water are not same — Explain.

GCEE S FIT IR AT BT GF2 7 — PRI I |

242=4



CBCS/B.Sc./Hons./Programme/3rd Sem./Chemistry/ CEMHGEC03T/C EMGCORO03T/2019
SECTION-B

Answer any four questions taking one from each unit

oy M0 AF 9l mmﬁwmmﬁm@mm

UNIT-I
7. (a) Complete the following reaction and write the name of the reaction: 2
e el s vt e Rfemba A @
CeHg +CgHsCOCI —ARUTER o
3
(b) How will you prepare- 2
NO; ‘
Cl
oI oge F1e NO,
Q) = @
Cl
8. (a) Nitrobenzene can be used as a solvent in Fridel-Craft’s reaction. — Explain. 2
rroe-aS R TRCBIlE @I R 0<=ie F41 31 — 101 e
(b) How can you carry out the following conversion? 2
- R weief e Bw 2
CH(CH3),
@ @
UNIT-II
. Using Grignard reagent how can you prepare the following compounds: 2+2=4
Hos R I99 IR fafeie @aefd e g sa@ ¢
) (CH,;);C-COOH
(i) . CH, (IIH— CH,CH,
OH
}(k Write short notes on: 24+2=4

€ ™. (i) Sandmeyer reaction
(i) Reformatsky reaction.
R DIl ECR1s
() crerrERiEn
(i) fcPreSR R
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UNIT-III
11. (a) Write how phenol may be prepared from cumene.
TFBRA aires careret e w1 ot
(b) Identify (4) and show the mechanism for its formation.
‘A - oS e« afb Bestwrr RfdF e @il
®
(CHy), € = € (CHy), > 4
oH OH

(c) Phenol is soluble in NaOH solution but not in a solution of NaHCO;. 2
— Explain.

(@+el NaOH %3t ¥y € NaHCO; G0 €1 931 — 7140 Tl |

1Z. (a) Write notes on any two of the following: 2+2=4
(i) Reimer-Tiemann reaction
(if) Fries rearrangement reaction
(iii) Williamson’s synthesis. o
feee Reme o -ictl 7/57 Bof Sieet oreats |
(i) Ts-owm R
(i) PR syforom R
(iii) SRFTNSICTR FTael |

(b) How will you distinguish chemically 1°, 2° and 3° alcohols? . 3

1°,2° @R 3° SOIETHIRCET W~ AP T ol foed T4 2

UNIT-IV
13. - Carry out the following conversions: 2
(i) Benzaldehyde —— Cinnamic acid
(i) Benzaldehyde ——» Benzil
e Rawm B sfiqea wrefbe st
() RerfeRze —0 FAl ot
(i) RaEfee —> e

+2==5

D)=
I\J|—-

144(a) Write down the mechanism of aldol condensation using acetaldehyde as
example. -

SIfHbTEbRIRGTE Brigael fRETE I9-A T SOIeToe TSR (e et el
(b) How can you convert acetaldehyde into CH;CH(OH)COOH? -
SRfFHEIERRREEE CH;CH(OH)COOH (Ast Foiws THiItd fFeid ¢
) What is Tollen’s reagent? 1
Gica Reptaas 5 9

o
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